DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—

151 —H4.776 + 8 = 106 —06692 + 7 =
152) —165.6 = 2 = 167 3198.6 = 6 =
153) 49581 =— 7 = 168) 654.21 =9 =
151 —775.4 =~ 10 = 169) 200.31 = 3 =
155 32.04 =~ 3 = 1700 97.39 =1 =
156 —189.18 - 6 = 1) —26110 + 7 =
157 8337 = 3 = 172) —1840.8 =+ 2 =
159 695.8 + 10 = 173) 56672 + 7 =
159) 51372 +6 = 4311 +3 =
160) G742 — 1 = 175) 14,756 + 2 =
161) —555.3 =~ 6 = 176) —116.62 = 7 =
162 —10924 =— 2 = 177 —692.4 =6 =
163) —23784 =~ 4 = 178) 19480 = 10 =
161) —860.5 =5 = 179) —782.46 =9 =
165 37476 = 9 = 180) —77.24 +2 =

Mathematics: Division - Level 6 - Horizontal - Set 2
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